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B5 ok AR - kBB ERR
i A6 1 H BT
N F Kk K M H Kk B _
10t| 20 | 30 | 40 | 50 | 60 | 120| ZF |40mm| 50 | 75 | 100 | 150 | 200 | 250 | 300 | 350 | #f
o1 W 119 1 21 24116 9 | 5 1| 55
o2 4 16 16 11| 11 26
%3 4y 7 7 9 | 2 21 1] 7 23
o4 13 1| 14 21 31
¥ 5 W 1 10 13 12 30
w6 4y 2 |1 12 4 |12 2 21
BT 26 26 | 1 9 19
%8 4y 3 13 2 18 12 14
AT fﬁéﬁnﬁ'— 11|11 13 1| 11 12
B 3 31 7 5 5
%10 4 2 1 22 25 21 | 15 40
= |11 A 2 6 8 315 13
KI5 5 13 21
w124 2 1 12 15 16 16
1 3 4y 1|11 12 3 15 24
14 | 1|5 2 13
IR 1 9
15 4 14 14 11| 11 22
w16 4y 2 | 15 17 6 | 24 | 15 45
w175 1 8 1 10 26 | 11 37
w1 8 4y 1 14 20
AEE 1 & 1 1 2 21 1 30
o2 4 34 34 22 | 16 | 5 43
Hl#E 3 % 16 16 24 5 | 14| 2 45
o1 23 23 25133 9 | 1 68
H [ 2 4 10 10 211 5 | 6 32
% 3 4 1931 9 59
Wl 4 & 4] 10] 8 32
% 5 4 312 11 26
% 1 4 6 | 2] 3 11
2 w2 4 20 20 2 110 | 10 23
= %3 4 22 22 12 | 12 24
o4 by 11 1|13 6|2 12
=t 1111 8 [402| 5 | 3 | 1 |441| 2 | 16 |443|307 112 12| 1 | 7 | 1 |901
HAREE (%ﬁ‘#{)

HAX D H >~ NG /NG

HokFe  150mmEh b (&E) 63 22 44 4 133

kA 150mmAT; (B 433 96 173 66 768

= &t 496 118 217 70 901

Bh KK BT (ff»‘“\#t)

] NS H N /NG

éb’k 266 59 51 61 437

(9 BRI IKE) (31) (4) (35)

%A 2 2 4

a i 268 59 53 61 441
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119F @A
(1) 119BZERW (9F054E)

vl 1A 2A | 3A|4A|5A| 6| 7H|8A|9A 104|114 |12 | &Ft
US 55 8 5 3 0 0 1 0 1 2 5 6 0 31
R = 129 98 93] 108| 106| 114 157 141 122] 111 117l 129 1425
R Bl 0 1 0 0 0 0 0 0 0 1 1 1 4
Z Do 355 0 0 0 0 0 0 1 0 1 0 0 0 2
S [ 17 17 36 30 22 24 10 8 21 19 23 12 239
SR e 4 15 13 10 21 5 6 7 48 19 19 17 184
M A 6 6 7 6 9 7 9 14 11 12 17 17 121
IR - HE 7 11 16 13 28 15 22 21 19 14 10 17 193
O A 32 28 30 29 35 35 55 37 36 34 38 35 424
&t 203 181 198| 196 221 201] 260| 229 260 215 231] 228 2,623
147D
= R 6.5 6.5 6.4 6.5 711 6.7 84| 7.4 87| 6.9 7.7 7.4 7.2
H o [ZofofE) (i, k) TEARRE] »EEhnEd,
(2) BELSEBDIIIBZERL
%E)DJ'J 2019 2020 2021 2022 2023
(B FoTeE) (&2 4E) (& 34E) (B 44E) (&5 4E)
K 5% 22 35 41 37 31
R =1 1,530 1, 498 1,397 1, 352 1,425
R B 4 4 10 9 4
F DD = 8 12 11 8 2
WO 269 202 227 197 239
W B B 290 147 198 136 184
4 58 68 59 106 121
HER - [ 83 88 83 149 193
= O 299 245 158 376 424
&5t 2,563 2,299 2,184 2,370 2,623
1HYS7=h oD
5 5 7.0 6.3 6.0 6.5 7.2
AT
E TZofoRE] (i, k) TEARRE] 2»EgFEnE,




(3) AEREEEMAEK

SRS /S Fnoe A S 24 Sfn 34 S 44 S 54
O B |sazylmsazy| 0 B |mazylsazy| 0 | mazy|sasy| 0 HE | masy | sasy| 0 5E | SAaRY | sasy
Feagg | Sk | EhEE | femisg | Ehkk | Ehase | FRaEk | Ehadk | FEME | Fealikk | FEhk | EiEE | f5Es | Ehkk | FEhask
fa-E el 30 13 |[43.3%| 43 27 162.8%| 64 36 |56.3%| 55 30 |54.5%| 65 27 141.5%
KoEREY| 1 1 100% [ 1 1 100% | 5 4 80% 6 4 |66.7%| 8 6 |[75.0%
1k 1. 5 5 |100.0% 35 20 | 57% | 62 43 |69.4%| 58 41 [70.7%| 59 38 |64. 4%
Ea=H ko)) IO 0 0% 1 1 100% [ 1 1 100% [ 1 1 100% [ O 0 0%
Z D 2 2 | 100%| 7 5 71% 8 7 |87.5%| 29 19 |[65.5%| 34 20 |58.8%
o 38 21 |55.3%| 87 54 |62.1%| 140 | 91 |[65.0%| 149 | 95 |63.8%| 166 | 91 |54.8%
SKOEFRE L 1T - 11T ERMEFICKREENRE T 5 £ T, HBIESDLEZ AN LiBERS D02 E D
BE%1TH5 2 L TT,
(4) BAERBERNEFTEIHE
SF BAE 1A 21 3H 41 55 6 H 7H 8H 97 | 108 | 11A | 12A | &&F
e % 20 16 15 22 14 18 26 27 4 19 21 23 | 225
22—4199 8 7 9 15 6 10 16 13 2 12 10 16| 124
ISE.
? 119 5 3 1 2 5 1 3 5 1 5 4 3 38
% INEZE 7 5 5 5 3 7 7 9 1 2 7 4 62
XU IA Fr 0 1 0 0 0 0 0 0 0 0 0 0 1
ERE IR ememam s alamasems e A3
%% 146 | 146 | 135 | 165 | 225 | 817
22—4199 60 71 60 80 | 124 | 395
==
? 119 26 25 26 45 38 | 160
Ei} VNG 60 49 49 39 62 | 259
BIX 1T IA Fr 0 1 0 1 1 3
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